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�D8к47 № 1 от 19.08.2019 

О ко<плекто64=88 уGDе6де=8O детP<8 =4   2019/2020 уGе5=O9 7од 

 

 

�Dупп4 "c 1,5 до 3 лет �4лOH8" (18/20, пол=о7о д=O) 
1  �=дDее64 �еD4 !еD7ее6=4   2 7од4 1 <еEOF  

2  �Dод8= !е<U= �е=8Eо68G   2 7од4 3 <еEOF4  

3  �4E8лPGе=ко !теп4= !т4=8Eл46о68G  1 7од 3 <еEOF4  

4  �еDEотуDо64 �4D8O �лекEее6=4  2 7од4 6 <еEOFе6  

5  �еDOт8= �OGеEл46 �л4д8<8Dо68G  1 7од 7 <еEOFе6  

6  �48к4 �4D64D4 /DоEл46о6=4   2 7од4  

7  К474ко64 .л8O �64=о6=4   2 7од4 8 <еEOFе6  

8  К8DG4=о64 !оD8O �4кE8<о6=4  3 7од4 1 <еEOF  

9  Ко<4Dо6 �о7д4= �лекEее68G   1 7од 11 <еEOFе6  

10  Ло768=е=ко �D8=4 �Dте<о6=4  2 7од4 1 <еEOF  

11  �4кE8<о64 �4D84==4 �67е=Pе6=4  1 7од 7 <еEOFе6  

12  �ел8кеEо6 �е=8E !еD7ее68G   1 7од 8 <еEOFе6  

13  �оDд4= !оD8O �еD<4=о6=4   2 7од4  

14  �4т4л8G �4E8л8E4 �лекE4=дDо6=4  2 7од4 4 <еEOF4  

15  �оEко6 �DоDе9 �е=8Eо68G   2 7од4 1 <еEOF  

16   од8о=о6 К8D8лл �лекEее68G   1 7од 3 <еEOF4  

17  !46д8ODо6 �л8< �8ктоDо68G   2 7од4 5 <еEOFе6  

18  !<8D=о6 !е<U= �=дDее68G   1 7од 10 <еEOFе6  

19  $оEте=ко �4=88л �<8тD8е68G  1 7од 8 <еEOFе6  

20  (е6еле64 �л8E4 �4E8лPе6=4   1 7од 7 <еEOFе6  

 

�Dупп4 "E 1,5 до 3 лет !ол=OHко" (24/12, 10 G4Eо6) 
1  �4Hло6к4 �67е=8O !еD7ее6=4   1 7од 9 <еEOFе6  

2  �у58= �4E4D .DPе68G    1 7од 7 <еEOFе6  

3  Ко64ле6 �7оD �7оDе68G   1 7од 6 <еEOFе6  

4  Ку7=еFо6 !теп4= �67е=Pе68G   1 7од 8 <еEOFе6  

5  Л8т68=о6 �о7д4= �лекEее68G   1 7од 8 <еEOFе6  

6  �едуHк8=4 �8л4=4 �8ктоDо6=4  2 7од4 2 <еEOF4  

7  �е<Oк8= �DтU< �=дDее68G   1 7од 2 <еEOF4  

8  �8кол4е6 Ко=Eт4=т8= �лекEее68G  2 7од4 1 <еEOF  

9  �4к �4D8=4 �л4д8<8Dо6=4   1 7од 3 <еEOF4  

10  &о<оEо64 �=4Eт4E8O Ко=Eт4т=8=о6=4  3 7од4 2 <еEOF4  

11  $497ул8=4  е=4т4 �4D4то6=4       1 7од 11 <еEOFе6  

12  %<еле6 !теп4= �8E49ло68G   2 7од4 4 <еEOF4  

 

 

�Dупп4 "E 3 до 4 лет �оGе<уGк8" (33/26, пол=о7о д=O) 
1  �4д<4е6 �ул4т �4D74ло68G   3 7од4 2 <еEOF4  

2  �4лOE=8ко64 �8ктоD8O �лекEее6=4  2 7од4 11 <еEOFе6  

3  �4D<8=4 �8ктоD8O �8т4лPе6=4  2 7од4 11 <еEOFе6  

4  �4E4ло6 !46ел89 �8т4лPе68G   2 7од4 7 <еEOFе6  

5  �улOе64 !оDPO �лекEее6=4   2 7од4 9 <еEOFе6  

6  �еDе6Fо6 �64= �е==4дPе68G   2 7од4 11 <еEOFе6  

7  �Dе<е=ко !оDPO �лекE4=дDо6=4  3 7од4 1 <еEOF  

8  Келе=д6еD8д7е �4кE8< �4леDPе68G  2 7од4 6 <еEOFе6  

9  К8Eте=ко �ол8=4 �4леDPе6=4   2 7од4 8 <еEOFе6  

10  Ку7=еFо6 �7оD �4E8лP68G   2 7од4 10 <еEOFе6  

11  КуDе=ко6 �DтU< �8E49ло68G   3 7од4 3 <еEOF4  



12  �елP=8ко64 �л8746ет4 �=дDее6=4  3 7од4 2 <еEOF4  

13  �8E49лNк �8к8т4  о<4=о68G   2 7од4 11 <еEOFе6  

14  �окDе=ко �=еEE4 �оE8Dо6=4   3 7од4 3 <еEOF4  

15  �4EO5улл8= �4DEелP �974то68G  2 7од4 11 <еEOFе6  

16  �еDедо6 �8E48л .DPе68G   2 7од4 11 <еEOFе6  

17  �о7Dе5е=ко !оD8O  о<4=о6=4  2 7од4 11 <еEOFе6  

18  !8доDFе64 �4D64D4 �лекEее6=4  2 7од4 8 <еEOFе6  

19  !8=O6Eк89 Ко=Eт4=т8= �7оDе68G  2 7од4 11 <еEOFе6  

20  !олO=8к �4кE8< �8ктоDо68G   2 7од4 10 <еEOFе6  

21  !оD8= �4=8л �8ктоDо68G   2 7од4 10 <еEOFе6  

22  !ODо64 �D8=4 Эду4Dдо6=4   2 7од4 8 <еEOFе6  

23  &к4Gе=ко �лекE4=дD !еD7ее68G  3 7од4 2 <еEOF4  

24  $4D464е6  468лP  уEл4=о68G   2 7од4 8 <еEOFе6  

25  $D8д<4= �OGеEл46 !еD7ее68G   3 7од4 1 <еEOF  

26  )8==8ко6 К8D8лл �4д8<о68G  3 7од4 3 <еEOF4  

 

�Dупп4 "E 4 до 6 лет �епоEедO" (24/26, 10 G4Eо6) 
1  �6туE К8D8лл �е=8Eо68G   5 лет 2 <еEOF4  

2  �=дDее6 �=дDе9 �64=о68G   5 лет 3 <еEOF4  

3  �4лOE=8ко64 �лU=4 �лекEее6=4  4 7од4 6 <еEOFе6  

4  �4D4=о64 �8ктоD8O �8кол4е6=4  4 7од4 10 <еEOFе6  

5  �4Hло6к4 �=4Eт4E8O !еD7ее6=4  5 лет 3 <еEOF4  

6  �ело6 К8D8лл �67е=Pе68G   5 лет 2 <еEOF4  

7  �олPH4ко64 �8ктоD8O Ко=Eт4=т8=о6=4 4 7од4 10 <еEOFе6  

8  �оDод8=4 КD8Eт8=4 �=дDее6=4  4 7од4 7 <еEOFе6  

9  �еDе8= Лео=8д �лекEее68G   4 7од4 6 <еEOFе6  

10  �Dу7до64 �л8E4 �=то=о6=4   4 7од4 11 <еEOFе6  

11  �у54Dе6 �лекE4=дD �е=8Eо68G  4 7од4 9 <еEOFе6  

12  �лP8= �67е=89 �4кE8<о68G   5 лет  

13  Ку7=еFо64 К4D8=4 �4E8лPе6=4  5 лет 3 <еEOF4  

14  �4куHе64 �4D8O  о<4=о6=4   4 7од4 6 <еEOFе6  

15  �4Dк8= �67е=89 �лекE4=дDо68G  4 7од4 8 <еEOFе6  

16  �еD4до6Eк4O �4D74D8т4 �лекEее6=4  4 7од4 8 <еEOFе6  

17  �8кол4е64 КD8Eт8=4 �лекEее6=4  5 лет  

18   у74е64 �лекE4=дD4 �лекE4=дDо  5 лет 1 <еEOF  

19  !4Dт4ко64 Эл8=4 �л4д8<8Dо6=4  4 7од4 8 <еEOFе6  

20  !<O64ло64 �D8=4 �=4толPе6=4  4 7од4 11 <еEOFе6  

21  !уDоGк8=4 'лPO=4 �лекE4=дDо6=4  5 лет 4 <еEOF4  

22  &о<оEо6 Ко=Eт4=т8= Ко=Eт4=т8=о68G  5 лет 6 <еEOFе6  

23  $8л8ппо64 �4D74D8т4 .DPе6=4  4 7од4 11 <еEOFе6  

24  'у<4ко64 !оD8O �4д8<о6=4   5 лет 2 <еEOF4  

25  (еEтополNк �<8тD89  уEл4=о68G  4 7од4 8 <еEOFе6  

26  ЭD78=4 �=7ел8=4 �лекE4=дDо6=4  4 7од4 7 <еEOFе6  

 

�Dупп4 "E 3 до 5 лет �елPG4т4" (24/22, 10 G4Eо6) 
1  �=дDее64 �л8=4 �64=о6=4   3 7од4 8 <еEOFе6  

2  �4=8=4 �8ктоD8O �=то=о6=4   3 7од4 5 <еEOFе6  

3  �о=д4Dе6 !теD4= �л4д8<8Dо68G  3 7од4 6 <еEOFе6  

4  �ук �64= �8т4лPе68G    4 7од4 3 <еEOF4  

5  �уе64 �л8E4  уEл4=о6=4   3 7од4 5 <еEOFе6  

6  К4л4G8ко6 �64= !еD7ее68G   3 7од4 2 <еEOF4  

7  К4ENк �4кE8< �4E8лPе68G   3 7од4 2 <еEOF4  

8  К4Iе=ко �D8=4 �л4д8<8Dо6=4  3 7од4 6 <еEOFе6  

9  К8D8ло6 �DтуD �лекEее68G   4 7од4 4 <еEOF4  



10  Клопо6 �<8тD89 �е==4дPе68G  2 7од4 11 <еEOFе6  

11  Клопо6 !еD7е9 �е==4дPе68G   2 7од4 11 <еEOFе6  

12  ЛеEо7оD �46ел �=то=о68G   3 7од4 10 <еEOFе6  

13  Л8E4=о64 КD8Eт8=4 �=дDее6=4  3 7од4 3 <еEOF4  

14  �8H8= �лекE4=дD �лекEее68G  4 7од4 2 <еEOF4  

15  ОEт4Eе68G �7оD �лекEее68G   3 7од4 8 <еEOFе6  

16  �8E4Dе6 !еD7е9 �е==4дPе68G   3 7од4 4 <еEOF4  

17  &48по6 �4кE8< /=о68G   3 7од4 3 <еEOF4  

18  &4Eк8= �е=8E �4кE8<о68G   3 7од4 5 <еEOFе6  

19  &олпO78=4 КEе=8O �л4д8<8Dо6=4  4 7од4  

20  &олEтокул4ко64 �8ктоD8O �=дDее6=4  3 7од4 4 <еEOF4  

21  $8л4то64 �4ле=т8=4 �лекEее6=4  4 7од4 2 <еEOF4  

22  (е6еле64 �4DPO �лекEее6=4   3 7од4 4 <еEOF4  

 

�Dупп4 "E 4 до 5 лет �олHе5=8к8" (27/26, пол=о7о д=O) 
1  �4D<8= &8<уD �8т4лPе68G   4 7од4 1 <еEOF  

2  �оD8Eо6 �л4д8<8D �4E8лPе68G  3 7од4 7 <еEOFе6  

3  �уEе9=о64 Эл49O �474Eо6=4   4 7од4 5 <еEOFе6  

4  �уко6 �64= Ко=Eт4=т8=о68G   4 7од4 2 <еEOF4  

5  �4E4Dо64 К8D4 �<8тD8е6=4   3 7од4 5 <еEOFе6  

6  К454ко6 �8т4л89 �<8тD8е68G   4 7од4 2 <еEOF4  

7  К8D8Gе=ко �4леD8O �лекEее6=4  4 7од4 1 <еEOF  

8  Ку7=еFо64 !6етл4=4  о<4=о6=4  3 7од4 10 <еEOFе6  

9  Ло6ко6 К8D8лл &4D4Eо68G   3 7од4 10 <еEOFе6  

10  �олG4=о64 �==4 �67е=Pе6=4   3 7од4 3 <еEOF4  

11  �о=4Eо6 �8к8т4 .DPе68G   4 7од4 6 <еEOFе6  

12  �4у<о64 �л8746ет4 �=дDее6=4  4 7од4 5 <еEOFе6  

13  �оEко6 &8<оDе9 �лекEее68G   4 7од4 2 <еEOF4  

14  О6G8==8ко64 �4E8л8E4 !еD7ее6=4  3 7од4 9 <еEOFе6  

15  О6G8==8ко64 �еDо=8к4 !еD7ее6=4  3 7од4 9 <еEOFе6  

16  �л4Eт8л8= �8E48л �8кол4е68G  3 7од4 7 <еEOFе6  

17  �олу=8= �4Dк �64=о68G   3 7од4 11 <еEOFе6  

18   4<474=о64 �4леD8O �лекE4=дDо6=4  3 7од4 7 <еEOFе6  

19  !468=о6 �46ел �=4толPе68G   3 7од4 4 <еEOF4  

20  !8доDук �67е=89 �=дDее68G   4 7од4 1 <еEOF  

21  '=т8ло6 �о7д4= �4E8лPе68G   3 7од4 5 <еEOFе6  

22  $8л4то64 КD8Eт8=4 �4кE8<о6=4  3 7од4 10 <еEOFе6  

23  (еEт4ко64 �8ле=4 Эду4Dдо6=4  3 7од4 10 <еEOFе6  

24  (8ло6 �4=88л �Dте<о68G   4 7од4  

25  /=ко6Eк89 �8E48л �67е=Pе68G  4 7од4 1 <еEOF  

26  /D4л8е64 �4<8D4 /D4л8е6=4   4 7од4  

 

�Dупп4 "E 6 до 7 лет '<к8" (24/23, пол=о7о д=O) 
1  �о=д4Dе=ко �64= �<8тD8е68G  5 лет 10 <еEOFе6  

2  �улеF4 !оD8O �л4д8<8Dо6=4   6 лет 1 <еEOF  

3  �4лтуEо64 КEе=8O �лекE4=дDо6=4  5 лет 9 <еEOFе6  

4  �оDо=о64 'лPO=4 !еD7ее6=4   6 лет 3 <еEOF4  

5  �олдо58= К8D8лл �46ло68G   5 лет 7 <еEOFе6  

6  �DDе<о64 �=6ел8к4 !еD7ее6=4  6 лет 3 <еEOF4  

7  �лPGе=ко �4кE8< �8E49ло68G  5 лет 7 <еEOFе6  

8  КоHеле64 �84=4 �л4д8<8Dо6=4  6 лет  

9  КD46Fо6 �=дDе9 �е=8Eо68G   5 лет 6 <еEOFе6  

10  Ку7P<8= �46ел     6 лет 6 <еEOFе6  

11  КуD=8ко6 �лекEе9 �67е=Pе68G   6 лет 2 <еEOF4  



12  КуD=8ко64 !оDPO �67е=Pе6=4   6 лет 2 <еEOF4  

13  Ле6Gе=ко �4D8O !еD7ее6=4   6 лет 2 <еEOF4  

14  ЛуH=8ко64 !оDPO .DPе6=4   5 лет 11 <еEOFе6  

15  �еGеDEк4O �=4Eт4E8O �8E49ло6=4  6 лет 5 <еEOFе6  

16  �оло68=Eк89 �=то= �<8тD8е68G  6 лет 4 <еEOF4  

17  !еD78е=ко �==4 �46ло6=4   5 лет 10 <еEOFе6  

18  !8доDук �лекEе9 �=дDее68G   5 лет 7 <еEOFе6  

19  !8луO=о64 .л8O �лекE4=дDо6=4  6 лет 4 <еEOF4  

20  !о5о64O /=4 �67е=Pе6=4   5 лет 11 <еEOFе6  

21  &к4Gе=ко /DоEл46 !еD7ее68G   6 лет 1 <еEOF  

22  &O<Gук �4леD8O !еD7ее6=4   5 лет 7 <еEOFе6  

23  '8EтOко64 ОлP74 �л4д8<8Dо6=4  5 лет 11 <еEOFе6  

 

�Dупп4 "E 5 до 7 лет �=49к8" (25/17, пол=о7о д=O) 
1  �4DEуко6 �64=     6 лет 8 <еEOFе6  

2  �олPH4ко6 /DоEл46 �67е=Pе68G  6 лет  

3  �оDо6Fо6 !46ел89 �4леDPе68G  5 лет 2 <еEOF4  

4  �луIе=ко /DоEл46 !еD7ее68G   5 лет 5 <еEOFе6  

5  �Dе<е=ко �<8тD89 �46ло68G   6 лет 3 <еEOF4  

6  �Dе<е=ко /=4      6 лет 3 <еEOF4  

7  �45олотEк8E &4тPO=4 �8кол4е6=4  5 лет 2 <еEOF4  

8  �854Dо64 /DоEл464 �64=о6=4   6 лет 4 <еEOF4  

9  К4D464=о6 �64=     6 лет 1 <еEOF  

10  Колот8л8=4 �==4 �8кол4е6=4   7 лет 1 <еEOF  

11  Ку7=еFо64 �ле=4  о<4=о6=4   5 лет 10 <еEOFе6  

12  �4EE4D �лекE4=дD �етDо68G   5 лет 1 <еEOF  

13  �е=N78=4 �8л4=4 �л4д8<8Dо6=4  5 лет 10 <еEOFе6  

14  !46д8ODо6 &8<уD �8ктоDо68G   5 лет 5 <еEOFе6  

15  !оло6Pе64 �6ел8=4 �8кол4е6=4  5 лет 3 <еEOF4  

16  &4D4Eо64 �=4Eт4E8O �лекE4=дDо6=4  6 лет 3 <еEOF4  

17  $8л4то64 Л8д8O �лекEее6=4   5 лет 10 <еEOFе6  

 

�Dупп4 "E 4 до 5 $4=т47еDO" (24/26, пол=о7о д=O) 
1  �55OEо6 �DтуD �4D4то68G   4 7од4 11 <еEOFе6  

2  �4д<4е64 !оUл<4 �4D74ло6=4  4 7од4 8 <еEOFе6  

3  �елоуEо64 �л8746ет4 �67е=Pе6=4  5 лет  

4  �8DNко64 �D8=4 �8E49ло6=4   4 7од4 8 <еEOFе6  

5  �оDод8=  о<4= �лекE4=дDо68G  5 лет  

6  �Dод8=4 �ло=4 �е=8Eо6=4   4 7од4 8 <еEOFе6  

7  �4луFк8E  од8о= �DтуD4Eо68G  4 7од4 9 <еEOFе6  

8  �4E8ле=ко �лPO �л4д8Eл46о68G  4 7од4 10 <еEOFе6  

9  �еEо=о6 �Dте< �4E8лPе68G   5 лет  

10  �у5Dо6еF !т4=8Eл46 �лекE4=дDо68G  4 7од4 10 <еEOFе6  

11  �у=4е64 КD8Eт8=4 �=дDее6=4   4 7од4 9 <еEOFе6  

12  �Dе<е=ко �л8E4 �=дDее6=4   4 7од4 10 <еEOFе6  

13  �DDе<о64 �64=7ел8=4 �4кE8<о6=4  5 лет 1 <еEOF  

14  �48к4 �о7д4= /DоEл46о68G   4 7од4 8 <еEOFе6  

15  �64=о6 !т4=8Eл46 �лекEее68G  4 7од4 9 <еEOFе6  

16  КлNG4=Eк4O �8лол8к4 �=то=о6=4  5 лет  

17  КудDо64 �8л4=4 �8E49ло6=4   4 7од4 11 <еEOFе6  

18  �4DоGк8= �<8тD89  о<4=о68G  4 7од4 8 <еEOFе6  

19  �8D74<47о<едо64 Эл8=4 �уD4до6=4  5 лет  

20  �8к8те=ко �Dте< �лекE4=дDо68G  4 7од4 8 <еEOFе6  

21  �оEко64 �=то=8=4 �е=8Eо6=4   4 7од4 7 <еEOFе6  



22  !кDOле6 �ле5 �лекEее68G   4 7од4 6 <еEOFе6  

23  &ок4Dе6 !6OтоEл46 �4кE8<о68G  4 7од4 11 <еEOFе6  

24  &O74=о64 �4D8O �л4д8<8Dо6=4  5 лет 1 <еEOF  

25  '8ку=о6 !теп4= �4кE8<о68G   4 7од4 11 <еEOFе6  

26  (уH4D8= �Dте< �8т4лPе68G   5 лет 


